Crestwood Park PrimarH Calculation Policg

Addition

YGO,F |

4+3=7

To solve addilion Problems
bﬂ counhng on. Children
hold @ number in their head

and count an 170 Qdd

Year 2,
3 and

36 37 38 39 4O W1

38
+ 23

o1

1 t—

8+3=11

Carry the tens
into the next
column.

Children conhnue }o use
counhng on Lo o,dd one-cligit

numbers ITO lo,rger numbers.

Children are introduced to
column addikion. Using their
knowledge of Plo,ce value to
add Mo-digit numbers. I f
your addition tolals more
than ten, the tens are

carried and added into H’»e

next co[umn.

YGO,F 5
and 6

3.65
+ 2.4

0.06

1

Children use Place value
knowledge bo add decimal
numbers, encourage children
bo Puk the decimals in

L’)GJ.‘O re H’»e numbers.

Sublraclion

YCOF |

2|3 (@

/) 819110

Children hold the [arger
number in their head and
count backwards o complele

the sublraclion.

3 and

Year 2,

a) 40 - 1 =

I | I |

b) 50 - 1 =

35 36 37 38 39 40 41 42 43 44 45 46 47 48 49 50

Children conlinue o count
backwards to sublract one-
dlgik numbers from [arger

numbers.
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5 1
65
— 28

Y4

Children are introduced to

column subbraction. Using

Place value knowledge bo
subbract lncluding

exchanging.

YGO,F 5
and 6

4 1
545
— 2.7

2.75

Children use Place value
knowledge bo sublract

decimal numbers, encourage

children to Puk the decimals

in beJ:ore H‘»e numbers.

Mulhplicahon

Children use Hmes-lables

Year l
and 2 4 X 5 o 20 knowledge to count in
5 X 4 — 20 mulhples.
Year 3 Children use short
H T 0 1L "
o,nd 4 mulhphcahon, mulhplﬂmg
3 4 H’Le mulhplier bU H’Le ones
»° 5 . . and then the lens.
—— Multiplier
1 7 0
1 2
Year 4 (\ To mulhplg bg |O, |OO or
ond 5 2 A jef=E2 gt 1000, the umbers jump ko
2 3 0 the next square. Theg J‘ump
one square for each O in
n n Hw mulhplier g
263 x 1 O 0 = 2 3 .
X10 = | Jump
2 3 0. X |OO = 2 J'umps

X |OOO = 3 J'umps
The numbers do not change,

and H’»e decimal does nol

move.
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YGO,F 5

H T 0 Chlldren use long
and 6 mu”ipllcahon, skarhng with
2 2 the ones o f the muuiplier
X 3 1 and then the tens. Theﬂ add
2 2 22X1 Hw answers to(?eH’»er O,L H’Le
6 6 0y 22430 |
6 5 2 Rememberthe0
Division
Year | |x5=5 To d’wlcle, children use
and 2 2x5=10 their limes-tables
20+5=4 3x5 =15 (nowledge ko counk n
r \ bx5=20 mulhples of the divisor
dividend  divisor until they get bo the
dividend.
e how many Bs make
207
Yeo,r 3 . Agam, count in mulhples
and & 22 B 5 - 4 r 2 of the divisor until you
r \ get near to the dividend.
dividend divisor
4 55 make 20 To f'md Hw remo,inder,
NW\ count on unlil you land
TTTTTTTTTT I T T T I T T T T Y| o ihe didend
Year 5 A For short clivision, or bus
db L e stop division, divide the
N 4] 2| 6 6%k F ber (h
arge numbper \ine
1 1 8+2=4 dividend) one number ot
2 8 5 2 5+2=2r1 a lime. Again, count in
r \ 13+2 =6r1 mulhples of the divisor

Divisor  Dividend Carry over any remainders

o,ncl CO,I"I"H OHH

remamders.
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YGO,F 6

You can use short
division o divide bg

lo,rger numbers kOO.

Or you could use long
division. FirsHH divide the
firsk hwo digiks of the
larger number, the

dividend, bg Hw divisor‘

— in this case |2.

x 12 = SO we
subbract this from the

leaving 7 and the 7
is Pu”ed down from the

orlginal number, mo,|<'m9

12
6x12 = 12 so our

answer is 6




